
Microsoft SG1-001 Questions $ Answers

Number: SG1-001
Passing Score: 800
Time Limit: 120 min
File Version: 32.4

 

 

http://www.gratisexam.com/ 

Microsoft SG1-001 Questions $ Answers

Exam Name :CompTIA Storage+ Powered by SNIA Beta Exam



Realtests

QUESTION 1
Which two (2) are advantages of ISL over-subscription? (Choose two.)

A. efficient ISL bandwidth utilization
B. lowers cost-per-port per installation
C. higher performance per ISL
D. enables zoning simplicity
E. more available F_Ports

Correct Answer: AE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 2
The SAN audit reports that there is a single fabric in a full mesh topology. Which three (3) benefits result from
migrating to dual fabrics with full mesh topologies? (Choose three.)

A. less inter-switch links
B. simplifies manageability
C. protection from human error
D. reduction in maintenance activity
E. decreased maintenance disruption

Correct Answer: ACE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 3
You have a single fabric with four servers connecting to an edge switch in a core edge configuration with single
2Gb/s ISLs to the core. Each server has an average throughput requirement of 40MB/s. Under which
circumstance would you need to add a second ISL?

A. to provide a redundant path
B. to avoid congestion on the ISL
C. to separate out FSPF updates
D. to provide a management path

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 4
A customer has a database server that processes a great deal of data very quickly. They have identified a
bottleneck in the storage subsystem and requested a change to the RAID configuration. How would you
configure the new RAID group? (Choose two.)



A. Stripe across 7200 rpm drives
B. Stripe across 15K rpm drives
C. RAID 6
D. RAID 1+0
E. RAID 5

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 5
Which set of SCSI components are required to support SCSI command tag queuing?
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A. adapter, adapter driver, device, device driver
B. adapter, device, device driver
C. adapter, device driver, controller, controller firmware
D. device, device driver

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 6
An application administrator seeks to improve the I/O performance of the server's SAN-attached storage.
Which HBA parameter setting change can affect the performance?

A. Queue Depth
B. PCI Connection Type
C. NL-Port Mode
D. SCSI ID Mapping

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 7
A two fabric merge has failed leaving you with segmented fabrics. Which could be the the cause of the



segmented fabrics?

A. unique domain Ids
B. identical zone names
C. timeouts set to equal values
D. non-compatible interoperability modes

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 8
The customer has an existing fabric switches installed from one manufacturer. They have decided to add a
redundant fabric using switches from a different manufacturer. Interoperability is their main concern. What is
important when considering interoperability in the SAN?

A. switch interoperability mode
B. HBA firmware/driver code
C. zone naming convention
D. virtualization engine

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 9
You are the system administrator of a medium-sized manufacturing company. The chief executive officer
(CEO) is concerned about business continuity in case of a disaster. He constituted a project team to develop a
business continuity and disaster recovery solution. The team is discussing online backup strategies. What
affects time-to-create and incremental update of a copy-on-write snapshot?

A. number of files
B. number of LUNs
C. size of snap volume
D. size of LUN

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 10
A company has implemented a stretch cluster, active/passive configuration, between two sites that are 100km
apart in conjunction with synchronous data replication. They want to perform an upgrade to the primary server
and need to run the application at the secondary site with minimal disruption, while still maintaining data
integrity. What is the safest procedure to failover the application to the remote site without any data loss?

A. stop services on local host, failover cluster alias, failover storage



B. stop services on local host, failover application, failover cluster alias
C. stop services on local host, failover storage, failover cluster alias
D. stop services on local host, failover cluster alias, failover application

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 11
A customer has a SAN consisting of two FC switches with a single 4Gb/s ISL between them. There are six
hosts attached to one switch, with an average throughput of 30MB/s each, and a single storage subsystem port
connected to the second switch at 2Gb/s. The deployment is performing poorly and you have been tasked with
identifying the possible cause. What is the cause of the degraded performance?

A. ISL oversubscription
B. HBA oversubscription
C. Switch oversubscription
D. Target oversubscription

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 12
Click the Exhibit button.

Calculate the fan-in ratio for ZONE_A.



A. 9:1
B. 9:2
C. 5:1
D. 3:1

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 13
You are installing a x16 PCI-E HBA into a server and notice that you only have a x8 slot available.
What is the impact of this action?

A. The HBA will negotiate and only use x8 lanes.
B. The slot must be reconfigured for x16 support.
C. The HBA cannot be installed into a x8 slot.
D. The slot will negotiate to support the x16 HBA.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 14
The fabric security has been compromised and an unauthorized administrative session is established,
removing zones from the active zone set. Which two (2) countermeasures should you take to reduce this risk?
(Choose two.)

A. redirect logging to syslog of a protected system
B. enable port authentication using DH-CHAP
C. enable access control list and role based access control
D. disable Telnet and enable secure shell
E. enable storage access controls and link encryption

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 15
A customer with sixteen non-clustered SAN attached hosts has a storage subsystem with thirty- two disk drives.
The customer wishes to protect their data using RAID 1. Each server has a need to see three separate
volumes for their final configuration. What must be configured on the storage subsystem to meet their storage
allocation needs?

A. multiple scsi targets to each mirror volume
B. single logical unit and use host-based LVM



C. separate virtual paths for each mirror volume
D. separate logical units for each server volume

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 16
You are diagnosing a performance problem with a Fibre Channel attached server that is configured to run
multipathing with dynamic I/O load balancing. You are not seeing the expected performance. You have
determined that the server configuration is correct and that the fabric paths are not congested. What could be a
possible cause for the lower than expected performance?

A. storage ports are configured to run half duplex
B. storage architecture is cache centric
C. storage ports are configured to run full duplex
D. storage architecture is controller centric

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 17
During the preparation of a server for the SAN connection, you configure the Fibre Channel host bus adapter.
Where does the Fibre Channel HBA send error and debug information to?

A. connected SAN switch
B. server's operating system
C. console output of the server
D. central management station

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 18
What two (2) technologies are commonly used in a business continuity plan? (Choose two.)

A. tape backup with restore to a remote site
B. subsytem-based synchronous replication to a remote site
C. subsystem-based asynchronous replication to a remote site
D. subsystem-based replication in the same datacenter
E. virtual tape library with restore to a remote site

Correct Answer: BC
Section: (none)



Explanation

Explanation/Reference:
Explanation:

QUESTION 19
CIFS is a stateful service. What maintains a history of connection activities?

A. server only
B. application
C. client and server
D. domain controller

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 20
You are trying to upgrade an existing 1Gb/s FC SAN that is using 62.5 micron multi-mode cable from a tape
library to a server that is 175 meters away to 2Gb/s Fibre Channel. After switching to the 2Gb/s Fibre Channel
equipment, a connection to the server cannot be maintained. When a connection is made, numerous errors are
reported. What is the cause of the errors?

A. 2Gb/s Fibre Channel must convert to LC from SC connectors
B. 2Gb/s Fibre Channel must use 50 micron multi-mode cable
C. 2Gb/s Fibre Channel cable length requires an optical splitter
D. 2Gb/s Fibre Channel cable length has been exceeded

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 21
You are looking at a Fibre Channel trace log and you notice that the class 2 communication session between
one initiator and target continually stops and then restarts. You suspect that there is a flow control problem
between this pair of devices. Which login communication session would you analyze in the trace log for the
number of flow control credits that have been allocated?

A. port login
B. loop login
C. fabric login
D. process login

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:



QUESTION 22
There are two datacenters separated by twelve (12) km with IP connections linking the two sites. Site A is the
primary production site, Site B is for test/development & disaster recovery. Site A synchronously replicates data
to Site B for disaster recovery purposes via a merged SAN fabric between the two sites. The communication
between the two sites is lost. What storage event will occur as a result of this?

A. SAN Fabric will do a build fabric following segmentation
B. SAN Fabric applications will stop executing I/O
C. SAN Fabric will do a reconfigure fabric following segmentation
D. SAN and non-SAN disk I/O will be halted

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 23
You have just completed installing, cabling, zoning, and device masking for a new server. HBA configuration
was successful, yet the host cannot see the storage after executing a device find command. Investigation at the
switch reveals that the host is not "seen" at the switch port. Light is visible at either end of the fiber but no link
light is seen on the switch. What is the most likely cause of the problem?

A. the switch ports are enabled
B. the HBA on the subsystem is not online
C. the zone has not been activated
D. transmit and receive fibers are reversed

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 24
You have been asked to add 2 new PCI-X cards into an existing server architecture and notice that they run at
different clock speeds. The system has both shared and dedicated PCI bus slots available. In order to
maximize performance, which PCI cards should be installed in which slots? (Choose two.)

A. PCI-X bus slots are speed independent
B. PCI-X 133 installed in a dedicated bus slot
C. PCI-X 100 installed in a dedicated bus slot
D. PCI-X 100 installed in a shared bus slot
E. PCI-X 133 installed in a shared bus slot

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 25
You have been asked to review your fabric management plan for effectiveness and efficiency, and to ensure



that you are meeting its stated requirement. What should you check to see if you are meeting the defined
SLAs?

A. viability of 1Gb/s FC technology to minimize problems with support
B. backup and recovery test results and their impact on fabric infrastructure
C. actual expenditure on fabric services against the predicted expenditure
D. frequency of fabric failures and the number of services impacted

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 26
A Fibre Channel switch failed in your fabric and a replacement switch has been delivered. Which two (2)
actions should be taken before plugging the replacement switch into the fabric? (Choose two.)

A. Delete the fabric records of the old switch from the Fabric.
B. Configure the new switch in to the current zone configuration.
C. Delete the zone configuration information on the replacement switch.
D. Set the Domain ID of the replacement switch to the Domain ID of the failed switch.

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 27
A customer has deployed redundant switched fabrics in a HA environment which also includes non-HA, single-
attached test servers. A new project requires additional connectivity for new HA servers to be placed into
production, but there are not enough free ports available in one of the existing fabrics to complete the HA
deployment. Which option would allow for the addition of the new hosts while maintaining the redundant
infrastructure at least cost?

A. Add a new switch to the problem fabric to increase available ports on the switches.
B. Add a new switch to both fabrics to increase available ports on the switches.
C. Add ISL's between the existing fabrics to leverage all available ports on the switches.
D. Cascade the existing switches into a new director class switch and add the hosts to the director.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 28
Which typical data characteristics would define archival data? (Choose two.)

A. short-term
B. long-term



C. offline
D. online
E. dynamic

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 29
What is the primary reason for making an adjustment to the queue depth?

A. number of LUNs presented to the HBA changes
B. average size of I/O blocks going through the HBA changes
C. read/write ratio of I/O going through the HBA changesread/write ratio of I/O? going through the HBA

changes
D. size of cache on the storage system changes

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 30
Which three (3) processes occur during a fabric merge? (Choose three.)

A. TOV distribution
B. zone set passing
C. FSPF trunk distribution
D. principle switch negotiation
E. name server communication

Correct Answer: BDE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 31
Click the Exhibit button.



You are integrating a local tape backup solution in your IT environment. What can cause the Gigabit Ethernet to
become the bottleneck in this backup environment?

A. agent installation during backup sessions
B. metadata if millions of files are backed up
C. second file copy of backup data to the catalog database
D. data traffic through the backup server to the tape library

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 32
A customer has a SAS-based storage environment with a SAS domain and some standalone servers, each
with multiple built-in SAS disks. The implementation includes direct routing, table routing and subtractive
routing. What is table routing?

A. routing along multiple parallel connections
B. routing along a physical point-to-point connection
C. routing between devices connected to an edge expander
D. routing between devices connected to different edge expanders

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 33
You have recently upgraded a tape drive on a older switch to operate at 120MB/s from 80MB/s. Prior to
purchasing the tape drives, you tested server dumps to a disk array across multiple ports and saw speeds
exceeding 150MB/s. With the new tape drive, you have not seen any dump speed exceed 100MB/s. What is
the most likely cause?

A. The new tape drive has logged into the fabric as a storage initiator.
B. The switch only has 1Gb/s ports.



C. You have not yet reset the switch port buffer credits.
D. The tape drive has logged in as an iSCSI device.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 34
You are about to allocate storage to a host that includes adding new paths, devices, and zones to the
configuration. What must be done prior to making any changes to the configuration? (Choose two.)

A. create new zones
B. activate change tracking
C. activate the new zone set
D. backup the configuration
E. copy the active zone set

Correct Answer: DE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

Topic 2, Volume B

QUESTION 35
You are installing a x8 PCI-E HBA into a server and notice that you only have a x16 slot available.
What is the impact of this action?

A. The HBA will negotiate and use x16 lanes.
B. The slot must be reconfigured for x8 support.
C. The HBA cannot be installed into a x16 slot.
D. The slot will negotiate to support the x8 HBA.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 36
What concept can reduce the number of ports required for ISLs?

A. zoning
B. locality
C. trunking
D. routing

Correct Answer: B
Section: (none)



Explanation

Explanation/Reference:
Explanation:

QUESTION 37
Which two (2) processes occur during a fabric merge? (Choose two.)

A. TOV negotiation
B. zone set passing
C. FSPF trunk negotiation
D. name server communication
E. subordinate switch negotiation

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 38
In a multiple switch fabric, how should the error detection (E_D_TOV) and resource allocation (R_A_TOV) time
out values be set?

A. according to the number of switches in the fabric
B. as a multiple of the number of ports on the switch
C. the same on all N_Ports and switches in the fabric
D. double the values set on the core switch

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 39
Which portion of the 24-bit (aabbcc) fiber channel address identifies the area?

A. cc
B. bb
C. aabb
D. bbcc

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 40
A company has been expanding its SAN physically throughout its campus headquarters. Distributed servers
throughout the campus access storage nodes that are also distributed. What are two (2) results of this
expansion? (Choose two.)



A. increase in data accessibility
B. decrease in resource utilzation
C. increase in SAN I/O latency
D. increase in application availability
E. decrease in application availability

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 41
Click the Exhibit button.

After developing a business continuity solution for your company, you implement a backup solution in your IT
infrastructure with focus on backup and restore technologies. Which statements are correct when implementing
this backup solution as shown in the exhibit? (Choose two.)

A. backup impacts the LAN traffic
B. multiplexing to tape reduces data traffic
C. metadata is sent to the backup server
D. servers can share the library for faster tape access
E. backup server can directly backup snapshots of the primary storage

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 42
University IT has its storage subsystems and fabric switches distributed throughout the campus. Each college
and department provides their own systems and staff. Central IT provides fabric, storage and backup
administration. Which security mechanism is most important to protect fabric services?

A. node authentication
B. switch authentication
C. port authentication
D. link encryption

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 43
You have been asked to conduct a high-level inventory of a remote fibre channel SAN fabric. Your manager is
worried that the remote site may include HBAs manufactured from a now bankrupt vendor. What information
will be most useful to you to determine the HBA vendor?



A. HBA Port Mode
B. AL_PA setting for HBA port
C. FC_ID of the HBA port
D. World Wide Port Name

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 44
You are implementing a remote synchronous replication strategy over the FC SAN for disaster recovery. Which
two must you consider? (Choose two.)

A. ISL aggregation
B. throughput requirement
C. location of principal switch
D. acceptable latency to the application
E. disk subsystem RAID level compatibility

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 45
What metric is used when determining how many storage subsystem ports can be attached to a single host
port?

A. fan-in
B. buffer credits
C. fan-out
D. ISL oversubscription

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 46
Identify the zoning object that is hardware enforced.

A. alias
B. E_Port
C. zone set
D. F_Port

Correct Answer: D
Section: (none)



Explanation

Explanation/Reference:
Explanation:

QUESTION 47
A customer's switch command line indicates that the status of port 4 is isolated. You know that port 4 is
connected to a target device. What is the problem?

A. port speed inconsistency
B. Domain ID inconsistency
C. E_D_TOV mismatch
D. Fibre type mismatch

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 48
What must you do to implement boot from a Fibre Channel SAN in your server infrastructure?

A. Configure the SAN Boot setting on the Fibre Channel HBA.
B. Enable direct disk access on the SAN switch.
C. Enable the BIOS on the Fibre Channel HBA.
D. Perform a loopback data test on the Fibre Channel HBA.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 49
What is a concern when removing media from service?

A. data on media should be erased
B. data on media should be archived
C. tapes should be archived
D. management information should be sanitized

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 50
What function of SATA is the equivalent of SCSI command tag queuing?

A. SATA command tag queuing



B. SATA command queuing
C. native command tag queuing
D. native command queuing

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 51
A minor power outage (brownout) has caused you to reboot all of the equipment in your infrastructure. After
successful reboots, some of the storage devices are missing from the fabric configuration. Which action could
fix the problems?

A. replace the effected HBAs with new ones
B. restore the active zone set from a backup
C. restore the HBA configurations from backups
D. replace the missing storage devices with new ones

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 52
In what mode is NFS running when a link failure is transparent to both the server and client?

A. session oriented
B. stateful
C. seamless
D. stateless

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 53
You have diagnosed that a FC HBA has failed. You need to replace it quickly to complete the overnight data
transfer. The only card you have available is a PCI-X 2.0 version running at 533MHz. The failed HBA was
inserted into a PCI-X shared bus slot. What will be the result if you insert this new HBA into the same slot?

A. HBA will run at 533MHz.
B. HBA will run at 266MHz.
C. HBA will run at 133MHz.
D. HBA will run at 100MHz.

Correct Answer: D
Section: (none)



Explanation

Explanation/Reference:
Explanation:

QUESTION 54
You are adding a new Fibre Channel switch to an existing fabric. Which two (2) steps should you take before
connection, to maintain security? (Choose two.)

A. clear zone configuration
B. change default password
C. disable E_PORT functionality
D. upgrade firmware using an isolated fabric
E. disable unused ports

Correct Answer: BE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 55
A production cluster is attached to redundant disk fabrics and a tape fabric. Each fabric is contained within a
single switch. Each cluster member has access to twelve (12) TB of RAID 5 production storage and twelve (12)
TB of RAID 0 local replica accessed through eight (8) HBAs single initiator zoned to sixteen (16) storage ports
on one storage subsystem. The tape fabric includes one (1) connection to each server and direct connections
to ten (10) LTO II (35MB/s) tape drives. The standby cluster member performs multi-threaded backups using
the local replica. All HBAs and ports are 2Gb/s. If the recovery time is equal to backup time, where is the
bottleneck?

A. tape HBA
B. disk HBAs
C. tape drives
D. subsystem contention

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 56
A company with departmental Fibre Channel SANs has decided that they now want to merge them into a large
enterprise SAN to assist with resource allocation and improve resource utilization. What two (2) configuration
parameters should the administrator check before connecting the SANs to minimize service disruption?
(Choose two.)

A. verify time out values match
B. verify principle switch priorities match
C. verify domain ID assignments are unique
D. verify auto negotiation is enabled

Correct Answer: AC
Section: (none)



Explanation

Explanation/Reference:
Explanation:

QUESTION 57
Which conflict would cause fabric segmentation?

A. zone content mismatch
B. only one zone set activated
C. E_Ports not included in zone set
D. inconsistent ISL zone configuration

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 58
A customer has a SAS-based storage environment with a SAS domain and some standalone servers, each
with multiple built-in SAS disks. The implementation includes direct routing, table routing and subtractive
routing. Which role does a fanout expander play in subtractive routing?

A. It routes between edge expanders connected to it.
B. It forwards routing requests to all other connected edge expanders.
C. It disables currently unused branches to increase throughput.
D. It is the sole source of subtractive routing requests in the SAS domain.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 59
You are the system administrator of a medium-sized manufacturing company. The chief executive officer
(CEO) is concerned about business continuity in case of a disaster. He constituted a project team to develop a
business continuity and disaster recovery solution. The team is discussing replication strategies. What two (2)
dependencies need to be considered in time-to-create and incremental re-establishment of a split mirror?
(Choose two.)

A. LUN size
B. file system
C. changed data
D. LDM
E. sector size

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:



QUESTION 60
What should the administrator verify before connecting a stand-alone populated switch to an existing fabric?

A. Verify port type assignment
B. Verify domain ID assignment
C. Verify FC_ID port assignment
D. Verify principle switch assignment

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:
Topic 3, Volume 3

QUESTION 61
Which characteristic differentiates an IP Storage adapter from a traditional Network Interface card (NIC)?

A. link aggregation
B. 2 Gb/s data rate
C. larger frame size
D. TCP/IP segmentation offload

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 62
What are two advantages of IP storage networking? (Choose two.)

A. Lower propagation delay
B. Support up to 16 million devices
C. Builds on SCSI and Ethernet technologies
D. Takes advantage of existing knowledge base

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 63
What is a shared communication infrastructure device to which nodes on a multi-points bus or loop are
physically connected?

A. Hub
B. Switch
C. Gateway
D. Managed switch



Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 64
Which architecture allows system-to-system communication and user level DMA with as little CPU interaction
as possible, most particularly for clustering?

A. FAIS
B. FC-VI
C. FC-CT
D. FC-SW

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 65
Which SMB security entity provides locking?

A. Share ACL
B. NFS export
C. Deny modes
D. CIFS authorization

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 66
Which three options are benefits of using storage based replication? (Choose three.)

A. Minimal or no host load
B. Host platform independent
C. Minimal client network load
D. Storage platform independent
E. Minimal storage network load

Correct Answer: BCD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 67



Which three standards are the responsibility of the Internet Engineering Task Force?

(Choose three.)

A. IEEE
B. SNMP
C. NDMP
D. Policy for QoS
E. IP over Fibre Channel

Correct Answer: BDE
Section: (none)
Explanation

Explanation/Reference:
Explanation:
IETF (www.ietf.org) -- Internet Engineering Task Force. The standards body responsible for a wide variety of
TCP/IP (Transmission Control Protocol/Internet Protocol) standards, including: SNMP, Simple Network
Management Protocol - A protocol for monitoring and managing systems and devices in a network. The data
being accessed is defined by a MIB (Management Information Base, also defined in the IETF). The functions
supported by the protocol are the request and retrieval of MIB data, the setting or writing of data, and traps to
signal the occurrence of events. IP over Fibre Channel Policy for QoS (quality of service)

QUESTION 68
What is the minimal iSCI security level needed to protect against man-in-the-middle insertion, modification or
deletion?

A. None
B. Encryption (IPsec)
C. Initiator and Target Authentication
D. Digest for header and data integrity

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 69
A customer is implementing a disaster recovery plan to backup data to a remote location 200 kilometersfrom
their production facility. Which proposal should they use?

A. Synchronously replicate data between the two sites using DWDM.
B. Asynchronously replicate data between the two sites using DWDM.
C. Synchronously replicate data between the two sites using a completely fibre solution.
D. Asynchronously replicate data between the two sites using a completely fibre solution.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 70



Which SMI-S related acronym describes an object-oriented description of the entities and relationships in a
business management environment, divided into core and common models?

A. CIM
B. SRM
C. DRM
D. DMTF

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 71
Which virtualization technique requires the addition of an agent to each host for the purpose of managing
storage allocation?

A. Host-based LVM
B. In-band appliance
C. Out-of-band appliance
D. Array-based LUN masking

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 72
What are three advantages of NAS? (Choose three.)

A. File services can be extended to hundreds of devices
B. Easy to implement using the same protocols as file servers
C. Provides a high-speed data path between servers and storage
D. Clients running different operating systems can share the same files

Correct Answer: ABD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 73
What is the SNIA Shared Storage Model?

A. Description of storage components and their differences
B. Framework that captures the functional layers and properties of a storage system
C. Specification, a design, a product, a recommendation of a storage infrastructure
D. Systems architecture that describes partitioning of physical elements and their complex interactions

Correct Answer: B



Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 74
Which transport method requires correct electrical termination on both ends?

A. SBus
B. ATAPI
C. PCI bus
D. SCSI bus

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 75
A customer with a split mirror backup infrastructure requires an emergency restore of a database. The data
files and archive logs are co-located in the same file system. What is your first step after stopping the
database?

A. Restore
B. Bring up the database in recovery mode
C. Copy archive logs to an alternate location
D. Change the database state to no archive logs

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 76
A stock trading application requires disaster tolerant storage for both transactional and analytical processing.
The implementation resulted in both a database and a data warehouse.

A. As initial storage is extended to match capacity changes, remote storage is added dynamically.
B. The storage administrator creates a series of policies that specify remote and local replication at the policy

client.
C. The storage administrator creates a series of policies that specify remote and local replication at the policy

provider.
D. As local storage is extended to match capacity changes, remote storage is reconfigurated within the

capabilities of the storage pool.

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Explanation:



QUESTION 77
Which architectural model in the SCSI Architectural Model defines the objects, function and Behavior
independent of the physical interface used to transport those objects or perform the functions?

A. FC-4
B. iSCSI
C. SCSI-3
D. SCSI-FCP

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 78
What type of Fabric switch ports are joined to form an ISL?

A. F_Port to F_Port
B. N_port to F_Port
C. E_Port to E_Port
D. NL_Port to E_Port

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 79
Which two are characteristic of mid-tier DAS? (Choose two.)

A. Requires specialized training to manage
B. Storage must be located near the server
C. Data is not readily shared over many servers
D. Storage is accessible by any host anywhere on the network

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 80
What occurs when iSCSI has been implemented in software?

A. FCIP is automatically enabled.
B. Host CPU overhead increases.
C. Network bandwidth increases to 10Gb/s.
D. Performance is equal to Fibre Channel host bus adapters.



Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 81
Which two recovery risks exist, given backup of a multi-protocol NAS device taken from a client System
through an active share? (Choose two.)

A. Loss of SMB files
B. Loss of NFS meta data
C. Loss of CIFS meta data
D. Loss of ACL information

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 82
What are two disadvantages of using a parallel interface? (Choose two.)

A. As the bus length increases, the chance of skew increases
B. As the bus speed increases, the chance of skew increases
C. As the number of devices attached to the bus increases, bus length decreases
D. As the number of devices attached to the bus increases, bus queue depth increases

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 83
Which Storage solution supports remote mirroring of FC switch attached storage arrays in geographically
dispersed data centers?

A. iFCP
B. FCIP
C. iSNS
D. iSCSI

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 84
Which utility typically enables abstraction of storage within a server?



A. LVM
B. Switch zoning
C. SAN appliance
D. SMI-S monitoring tool

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 85
Which two performance criteria are used to determine the selection of a device for a tiered storage level?
(Choose two.)

A. User profile
B. Age of data
C. Speed (IOPs)
D. Raid and availability

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 86
What component is a configuration management element of an IP storage solution?

A. HBA
B. VSAN
C. ISL
D. VLAN

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 87
Which IP Storage protocol requires iSNS for discovery and management?

A. FCIP
B. SATA
C. iFCP
D. iSCSI

Correct Answer: C
Section: (none)
Explanation



Explanation/Reference:
Explanation:

QUESTION 88
Which three interface points test the interoperability of SMI-S? (Choose three.)

A. CIMOM to provider
B. Client to CIM/WBEM
C. CIM/WBEM to CIMOM
D. CIM/WBEM to provider

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 89
What are three advantages of a SAN? (Choose three.)

A. Heterogeneous servers can access a shared storage array.
B. Heterogeneous servers can be backed up to a shared tape array.
C. Storage arrays can appear as self contained, autonomous file servers.
D. Clustered servers located in different buildings can access the same storage.

Correct Answer: ABD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 90
A small Internet startup company needs to implement a backup solution in their environment. Cost is a large
concern, and performance is not as critical since their environment mainly sits idle during off hours. If a backup
is not completed successfully, the customer has little concern and is able to run new backups at any time.
Which solution meets the customer's requirements for providing a low-cost solution and satisfies their current
demand?

A. LAN-free backup
B. Server-free backup
C. Over-the-network backup
D. SAN without LAN-free backup

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 91
A clothing manufacturer is replicating its data asynchronously to a remote site. On the remote site, it creates a
snapshot of the mirrored volume to use as a disaster tolerant backup Which choice contains the steps to create



a consistent copy of the data?
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A. Simply create the snapshot
B. Quiesce the application at the production site, create the snapshot
C. Split the link between the production and mirrored volumes, create the snapshots
D. Split the production and mirrored volumes, quiesce the application at the production site, create the

snapshot

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 92
Which three are advantages of using a SAN in a campus environment? (Choose three.)

A. Consolidate storage in a data center
B. Increase storage resource utilization
C. Decrease network traffic due to backups
D. Decrease network traffic due to storage decentralization

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 93
Which disk drive type relies on the host processor to perform all storage tasks?

A. SCSI
B. Parallel ATA
C. Fibre Channel
D. SAS (Serial Attached SCSI)

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 94
What is the maximum potential bandwidth of a Fibre Channel connection in a 2 Gb SAN?



A. 100 MB/s
B. 200 MB/s
C. 300 MB/s
D. 400 MB/s

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 95
Which storage networking environment accesses the file system through a local area network?

A. SAN
B. NAS
C. CAD
D. DAS

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 96
Which two sub-components are required in a specialized NAS operating system? (Choose two.)

A. File system
B. User interface
C. Process scheduler
D. Communication protocols

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 97
Which two are advantages of hardware RAID controllers? (Choose two.)

A. Volume management is performed by the server.
B. Volume management is performed by controller card.
C. Dedicated cache memory increases server write performance.
D. Parity calculation by the server and cache memory in the RAID controller increases read and Write

performance.

Correct Answer: BC
Section: (none)
Explanation



Explanation/Reference:
Explanation:

QUESTION 98
Which Fibre Channel topology was initially introduced as a replacement for physical SCSI?

A. FC_AL
B. FDDI
C. Point-to-point
D. Switched Fabric

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 99
Company.com's application and database will be rehosted and the underlying SCSI storage with an FC array.
The new system's O/S, volume manager, application and database are incompatible, requiring many upgrades.
Which action would you recommend?

A. Upgrade existing storage using host level migration.
B. Create a snapshot replica of the new storage, making it available to the new host for test.
C. Create a split mirror replica of the new storage, making it available to the new host for test.
D. Upgrade exist host to current volume manager, application and database levels and then migrate to new

host using NDMP.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 100
Company.com needs to implement a high availability model for its mission critical datA. Cost is important, but
the solution must meet the following criteria:

1) Data can never be offline for more than 10 minutes, even after a failure

2) Databases must be on line during backups.

3) The company is using RAID 5 and must guard against double disk failure

Which option is the most cost effective strategy and fulfils the constraints?

A. Create a split mirror snapshot and use as a hot backup
B. Create a copy on write snapshot and use as a hot backup
C. Create a split mirror snapshot and backup the snapshot to tape
D. Create a copy on write snapshot and backup the snapshot to tape

Correct Answer: A
Section: (none)



Explanation

Explanation/Reference:
Explanation:

QUESTION 101
What is the family of Small Computer System Interface /SCSI) standards that define characteristics of the
multi-signal I/O bus versions of the SCSI Interface?

A. Serial SCSI
B. SCSI address
C. SCSI parallel Interface
D. SCSI Enclosure Services

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 102
Which three may describe a NAS "head" or gateway? (Choose three.)

A. Integrated disk storage
B. Connection to an IP network
C. Clustering and failover features
D. "file serving" to clients and servers

Correct Answer: BCD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 103
Which protocol is used for backups on an Ethernet based network?

A. FCIP
B. NDMP
C. iDMP
D. iSNS

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 104
Which two are recognized by SNIA as elements of the storage virtualization taxonomy?

(Choose two.)



A. Disk Virtualization
B. Host Virtualization
C. Block Virtualization
D. Cache Virtualization

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 105
What are the SCSI addressing components handled by the SCSI protocol?

A. SCSI bus, logical unit
B. SCSI bus, target ID, logical unit
C. SCSI bus, target ID, adaptor number
D. SCSI bus, adaptor number, logical unit

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 106
Company.com is creating a backup and recovery plan using split mirror technology.

Which order of steps must be taken to ensure a consistent and restartable backup of data?

A. Quiesce application, flush buffers, split mirrors, backup data
B. Split mirrors, quiesce application, flush buffers, backup data
C. Split mirrors, flush buffers, quiesce application, backup data
D. Flush buffers, quiesce application, split mirrors, backup data

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 107
Which component is a configuration management element of fabric?

A. HBA
B. Zone
C. LUN
D. VLAN

Correct Answer: B
Section: (none)
Explanation



Explanation/Reference:
Explanation:

QUESTION 108
Which two RAID types use parity for data protection? (Choose two.)

A. RAID 1
B. RAID 4
C. RAID 1+0
D. RAID 5

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 109
What is a benefit of host-based data replication?

A. Full utilization of host CPU resources
B. Storage device independent and application transparent
C. Uses existing storage area network connections to complete replication
D. Enables applications to virtualize host connectivity and parallel data processing

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 110
Which SMI-S interface role provides a common service for use by clients in locating services in The
management environment?

A. Agent
B. Provider
C. Directory server
D. Management server

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 111
Which subset of target devices allow for scalability in the SCSI protocol?

A. Target ports
B. I-T-L Nexus



C. Logical units
D. Command Descriptor Blocks

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 112
Which standard management agent resides in the file/record layer if the SNIA storage object model?

A. Host
B. Device
C. Network
D. Database

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 113
Which three upper layer protocols are supported by Fiber Channel? (choose three)

A. VI
B. IP
C. SCSI
D. ATAPI

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 114
Which two recovery risks exist, given backup of a multi-protocol NAS device taken from a client System
through an active share? (choose two)

A. Loss of SMB files
B. Loss of NFS meta data
C. Loss of CIFS meta data
D. Loss of ACL information

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:



QUESTION 115
Which two Storage Virtualization classifications are host based? (choose two)

A. File/Record
B. File System
C. File Allocation
D. File Redundancy

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 116
Which two are strengths of high end storage arrays in a SAN? (Choose two)

A. Provides higher availability
B. No retraining is required to manage
C. Servers and storage can scale independently
D. Costs are comparable to DAS or NAS solution

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 117
Which SMI-S interface role server management information from multiple devices or underlying subsystem
providers and enables proxy access to devices/subsystems?

A. Agent
B. CIM server
C. Lock manager
D. Directory server

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 118
Which drive type is considered a " dumb" drive in which the controller carries all the intelligence?

A. ATA
B. SCSI
C. SATA
D. Parallel ATA



Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 119
What are two advantages of a switched fabric over arbitrated loop topology? (choose two)

A. A single Fabric can scale to 2048 switches.
B. Failure of a single device in a switched topology affects only that device.
C. Each device arbitrated to gain access to the switch thus avoids contention.
D. Number of devices that can be attached increases as the size of the switching structure expands.

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 120
Which transport method requires correct electrical termination on both ends?

A. Sbus
B. ATAPI
C. PCI bus
D. SCSI bus

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 121
What component is a configuration management element of an IP storage solution?

A. HBA
B. VSAN
C. ISL
D. VLAN

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 122
What are two examples of active, malicious attacks possible in IP Storage transport environments? (Choose
two)



A. Eavesdropping
B. Identity spoofing
C. Man-in-the-middle
D. Data origin authentication

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 123
What is the basic order of a snapshot creation process?

A. Flush, snapshot, backup, release
B. Flush, quiesce, snapshot, backup
C. Quiesce, flush, snapshot, backup
D. Flush, quiesce, snapshot, backup

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 124
What are the SCSI addressing components handled by the SCSI protocol?

A. SCSI bus, logical unit
B. SCSI bus, target ID, logical unit
C. SCSI bus, target ID, adaptor number
D. SCSI bus, adaptor number, logical unit

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 125
Which unit physically stores data and protects against errors on a fixed block architecture disk?

A. Head
B. Cache
C. Sector
D. Cylinder

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:



Explanation:

QUESTION 126
Which default network file sharing protocol is used by Microsoft Windows clients in a NAS environment?

A. IPX
B. NFS
C. DNS
D. CIFS

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 127
What are three disadvantages of NAS when compared to Fiber Channel for database applications? (choose
three)

A. Multi-path failover
B. Distance from server
C. Ethernet bandwidth limitations
D. Scalability beyond single appliance

Correct Answer: ACD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 128
What is a virtual replication of a data volume typically used for short term backup and recovery purposes?

A. Split mirror snapshot
B. Copy-on-write snapshot
C. Storage based data replication
D. Network based data replication

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 129
Which SMB security entity provides locking?

A. Share ACL
B. NFS export
C. Deny modes
D. CIFS authorization



Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 130
Which component is a configuration management element of a host?

A. HBA
B. Zone
C. LUN
D. VLAN

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 131
Which protocol is the responsibility of the Network Data Management Task Forc?

A. DMP
B. NDMT
C. DNMP
D. NDMP

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 132
Which subset of target devices allow for scalability in the SCSI protocol?

A. Target ports
B. I-T-L Nexus
C. Logical units
D. Command Descriptor Blocks

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 133
Company.com is creating a backup and recovery plan using split mirror technology. Which order of steps must
be taken to ensure a consistent and restorable backup of data?



A. Quiesce application, flush buffers, split mirrors, backup data
B. Split mirrors , flush buffers, split mirrors, backup data
C. Split mirrors , flush buffers ,quiesce application, backup data
D. Flush buffers quiesce application, split mirrors, backup data

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 134
Which two concepts provide block-based backup and recovery? (choose two)

A. Disk-free
B. LAN-free
C. SAN-free
D. Server-free

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 135
Company.com is implementing a disaster recovery plan. When planning the performance impact of the solution
which three concerns should be taken into consideration? (choose three)

A. Distance between sites
B. Technology linking the remote sites
C. Write intensive nature of applications
D. RAID type used by data on local array

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 136
Which standard defines a programming framework for implementing storage applications, including storage
pooling, data replication and virtualization between heterogeneous storage systems?

A. FAIS
B. FIPS
C. FC-VI
D. FC-GS

Correct Answer: A
Section: (none)



Explanation

Explanation/Reference:
Explanation:

QUESTION 137
Company.com's application and database will be rehosted and the underlying SCSI storage Subsystem
replaced with an FC array. The new system's O/S, volume manager, application and database are
incompatible, requiring many upgrades. Which action would you recommend?

A. Upgrade existing storage using host level migration
B. Create a snapshot replica of the new storage, making it available to the new host for test
C. Create a split mirror replica of the new storage, making it available to the new host for test
D. Upgrade existing host to current volume manager, application and database levels and then migrate to new

host using NDMP

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 138
Which three are advantages of using a SAN in a campus environment? (choose three)

A. Consolidate storage in a data center
B. Increase storage resource utilization
C. Decrease network traffic due to backup
D. Decrease network traffic due to storage decentralization

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 139
Which RAID type is the best choice when performance is more important than protection?

A. RAID 4
B. RAID 0+1
C. RAID 1
D. RAID 5

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 140
What are two advantages of virtualization? (choose two)



A. Improves data integrity
B. Provides higher storage asset utilization
C. Allows file sharing between dissimilar applications
D. Increase the number of storage devices an operator can manage

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 141
A large credit reporting agency has deployed a SAN infrastructure, and is now trying to design a Backup
solution. Cost is not a concern. Data availability and minimal production impact, however, are critical to the
desired result. Backup should be after hours, and require as few host resources as possible allowing the
applications to continue running unhindered. Which backup and recovery solution satisfies the customer
requirements and provides the highest level of availability?

A. NDMP backup
B. LAN-free backup
C. SAN without LAN-free backup
D. Over-the-network based backup

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 142
Which virtualization technique is best suited for low-cost, short term replication of data where Storage utilization
and replication creation must be minimized?

A. Full copy snapshot
B. Multi-site block storage
C. Copy-on-write snapshot
D. Storage virtualized tape drives

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 143
What is the maximum potential bandwidth of a Fiber Channel connection in a 2 Gb SAN?

A. 100 MB/s
B. 200 MB/s
C. 300 MB/s
D. 400 MB/s



Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 144
Which protocol allows booting from the network?

A. IFCP
B. ICUP
C. FCIP
D. ISCSI

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 145
What is a Fiber Channel HBA?

A. A device that interfaces Fiber Channel to a SCSI bus.
B. A device that interfaces Fiber Channel with Gigabit Ethernet.
C. A device that interfaces Fiber Channel with a computer system.
D. A device that interfaces Fiber Channel with Ethernet storage arrays.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 146
Which type of storage management product supports some standards such as SNMP agents and telnet
interfaces, as well as provides front and rear device views with status?

A. Device manager
B. Logical data manager
C. Storage network manager
D. Network management system

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 147
Which is a full duplex disk interface?



A. Iscsi
B. Parallel ATA
C. SATA (Serial ATA)
D. SAS (Serial Attached SCSI)

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 148
Which SMI-S term provides information about physical and logical SAN entities found, often dynamically, within
the management domain?

A. Extension
B. Discovery
C. Enumeration
D. Intrinsic-method

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 149
Which three components of the SNIA Shared Storage Model are members of the "Block Aggregation" layer?
(choose three)

A. Host
B. Device
C. Network
D. Database
E. File system

Correct Answer: ADE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 150
Which TCP/IP based protocol is used for connections between servers and IP-based storage devices?

A. FCIP
B. ISCSI
C. IFCP
D. ISNS

Correct Answer: B
Section: (none)



Explanation

Explanation/Reference:
Explanation:

QUESTION 151
Company.com needs to backup its data while keeping the data online. Cost and application performance are
both important. The data can be backed up to tape between 12.00 AM and 6.00AM when the applications are
not write intensive. Which solution is the most appropriate?

A. Create a split mirror snapshot, mount the snapshot to the same host, back the snapshot up to tape.
B. Create a split mirror snapshot, mount the snapshot to a different host, back the snapshot up to tape.
C. Create a copy on write snapshot, mount the snapshot to the same host, back the snapshot up to tape.
D. Create a copy on write snapshot, mount the snapshot to a different host, back the snapshot up to tape.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 152
Which two are choices of physical transports for storage over IP? (CHOOSE TWO)

A. FCIP
B. ICUP
C. IFCP
D. ISNS

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 153
Which storage administration policy association is appropriate in an SMI-S enabled environment if an online
application will be supported by a large database?

A. An OLTP policy with the database at the policy client
B. An OLAP policy with the database at the policy client
C. An OLTP policy with the database at the policy provider
D. An OLAP policy with the database at the policy provider

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 154
Where is the virtualization performed that masks physical data layout?



A. Network
B. FC switch
C. Host/server
D. Storage device

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 155
Which IP Storage solution supports presentation of storage to an array of blade servers that Require remote
boot, high storage availability, and minimal peak I/D requirements?

A. IFCP
B. FCIP
C. ISNS
D. ISCSI

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 156
What are the distance limitations of parallel SCSI?

A. 3 meters to 1.5 KM
B. 25 meters to 1.5 KM
C. 1.5 meters to 25 meters
D. 1.5 meters to 12.5 meters

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 157
What are two advantages of IP storage networking? (choose two)

A. Lower CPU overhead
B. Lower cost infrastructure
C. Greater security exposure
D. Can use existing network management tools

Correct Answer: BD
Section: (none)
Explanation



Explanation/Reference:
Explanation:

QUESTION 158
When migrating from 1 Gb FC SAN to 2 Gb FC SAN which two statements are true? (choose two)

A. 1 Gb and 2 Gb SAN devices are compatible.
B. 1 Gb and 2 Gb SAN devices are not compatible.
C. Maximum distance between server and switch is increased.
D. Maximum distance between server and switch is decreased.

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 159
You have been asked to restore a database for an audit from the backup dated 31 December 2001 to a spare
machine. Which two storage issues cause the most risk to a successful restore, given that you have enough
storage assigned to the system? (choose two)

A. Storage assignment
B. File system structure
C. Host LVM/LDM structure
D. Zoning and LUN masking

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 160
Which device enables a Fiber Channel transport/connection from a source host, and SCSI

transport/connection from a target device to communicate by mapping the Fiber Channel ID to a SCSI
address?

A. BRIDGE
B. Switch
C. Director
D. SCSI extender

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 161
Which standard management agent resides in the file/record layer of the SNIA storage object model?



A. Host
B. Device
C. Network
D. Database

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 162
Which storage management component has the ability to display SAN fabric topology and perform zoning
operations, but provides only minimal event information?

A. Logical data manager
B. Fabric directory server
C. Storage network manager
D. Enterprise management system

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 163
What is the transfer communication method used in SCSI interfaces?

A. Duplex
B. Simples
C. Full duplex
D. Half duplex

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 164
Which tier of storage device and associated cost would store Company.com's mission critical Online data?

A. Tier two, lower cost per terabyte
B. Tier one, lower cost per terabyte
C. Tier two, higher cost per terabyte
D. Tier one, higher cost per terabyte

Correct Answer: D
Section: (none)
Explanation



Explanation/Reference:
Explanation:

QUESTION 165
Which classification of storage virtualization is implemented through firmware in the storage array?

A. Disk virtualization
B. Block virtualization
C. Filter/record virtualization
D. File system virtualization

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 166
Which two describe the SNIA SMI-S interoperability Conformance Test Program (ICTP)?

(Choose two)

A. Audits vendor test suit results to achieve ICTP logo
B. Tests any device for compliance to one or more SMI profiles
C. Delivers "plug fest" to validate compliance and achieve ICTP logo
D. Provides "validation" of storage vendor implementation of an SMI-S release

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 167
Which three Fiber Channel components have World Wide Names? (Choose three)

A. HBA
B. Storage device port
C. Physical port in a hub
D. Physical port in a switch

Correct Answer: ABD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 168
Which two components are required in a specialized NAS operating system? (choose two)

A. User processes
B. Network interface



C. Storage management
D. Application scheduling

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 169
Company.com has implemented a high availability tape backup process that uses snapshots. The snapshots
are backed up to tape. When checking the backup, the data is found to be corrupt.

Which two options will fix this problem? (choose two)

A. Quiesce the application before backing up the data
B. Unmount the file system before backing up the data
C. Quiesce the application before creating the snapshot
D. Unmount the file system before creating the snapshot

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 170
Which storage virtualization management technique uses the same path for both data and control?

A. Isas APPLICATION
B. IN-BAND APPLIANCE
C. STORAGE APPLIANCE
D. OUT-OF-BAND APPLIANCE

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 171
What is a characteristic of synchronous remote replication?

A. Source is minutes ahead of the remote replication.
B. Source buffers the data and sends it depending on a cycle time.
C. Source and remote replication always have identical data.
D. Synchronous replication only used for extended distances.

Correct Answer: C
Section: (none)



Explanation

Explanation/Reference:
Explanation:

QUESTION 172
Which statement defines Serial-Attached SCSI (SAS) and SATA connectivity?

A. SAS storage devices can plug into SATA backplanes.
B. SATA storage devices can not plug into SAS backplanes.
C. SAS backplanes can accommodate both SAS and SATA devices.
D. SATA backplanes can accommodate both SAS and SATA devices.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 173
You no longer have any port availability in the company's switch fabric. There is a decommissioned switch
available. When it is installed, there is a segmentation error. What is the cause problem?

A. The wrong cable type was used to connect the switches.
B. The cable was connected into the wrong port on the target switch.
C. A duplicate zone name exists on the switch you are adding.
D. The domain priority is inconsistent

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 174
From a business perspective a well managed archive is particularly important in which situation?

A. In the event of loss of power at the primary data center
B. When an administrator accidentally formats the wrong file system
C. In the event of litigation
D. When a user accidentally deletes an important email

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 175
In the exhibit, which type of connector is shown?

A. HSSDB9



B. HSSDC
C. SATA
D. VHDCI
E. SCSI

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 176
What might be considered the most important criteria when designing an OLTP implementation for a financial
services customer?

A. Data integrity
B. Data redundancy
C. Disk latency of less than 15 ms
D. High availability

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 177
What is the maximum distance of a 50-micrometer fiber witch a 850nm shortware laser at 1 Gbps?

A. 500 meters
B. 300 meters
C. 150 meters
D. 70 meters

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 178
Common enterprise tape cartridges such as LTO or DLT contain which components?

A. leader pin, write protect switch, supply reel, access door
B. leader pin, read/write head assemble, supply reel, access door
C. leader pin, write protect switch, supply reel, pickup reel
D. leader pin, read/write head assemble, supply reel, pickup reel

Correct Answer: A
Section: (none)
Explanation



Explanation/Reference:
Explanation:

QUESTION 179
Which tier provides highest availability and highest performance?

A. tier 4
B. tier 3
C. tier 2
D. tier 1

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 180
What is the maximum throughput of a 4 phy SAS wide port that has 3 Gbps links?

A. 300 MBps
B. 1200 MBps
C. 1800 MBps
D. 2400 MBps

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 181
What is a common type simmetric key ciphering when securing stored information?

A. DEC
B. AES
C. Turing
D. SSL

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 182
What describes RAID 5?

A. mirroring
B. parallel access with parity
C. Striping
D. Independent access with interleaved parity



Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 183
Which hardware component provides the interface between the storage network and the server backuplane?

A. gigabit link module
B. interposer card
C. inter-switch link
D. host bus adapter

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 184
Which is considered tier 2 storage in a datacenter with Three (3) storage tier?

A. tape vault
B. Fibre channel disk array with dual controllers
C. Nearline Storage
D. intelligent storage virtualization

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 185
What requeres the user to correctly install electrical terminators on both ends of the bus?

A. Sbus
B. SCSI bus
C. PCI bus
D. Fibre Channel

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 186
What happens when a Data Disk drive which has the ability to operate at 1.5 amd 3.0 Gbps is plugged into a
SAS exppander port with the ability to operate at 3.0 at 6.0 Gbps?

A. The SATA device will not operate
B. The SATA drive will power down
C. The SAS expander port shuts down and reports an error to the management application layer using the

SMP protocol
D. The SAS expander port and SATA device will automatically perform speed negotiation and run at 3.0 Gbps

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 187
Your existing tape infrastructure uses block level technology. You need to restore a set of files but not the entire
volume. How ca this accomplished without compromising the existing data on the server?

A. Backup the server, restore the original volume, then restore the recent backup
B. Restore the tape over the existing volume. Only extra files that do not exist will be added
C. Build out a new server that mimics the existing server and restore the file to that newly created server
D. Restore to an alternate location such as a newly allocated drive. Copy the files you need on to the volume.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 188
Which RAID level is the most commonly used for file servers, application server, web server, databases, and
other transaction-oriented applications?

A. RAID 1
B. RAID 3
C. RAID 4
D. RAID 5

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:



Explanation:

QUESTION 189
Your current backup solution includes a backup server and six tape drives within a tape library. The routers are
connected to the SAN and the servers are zoned on the SAN to see the array. The server sends a set of
commands to the tape routes causing the routers to talk directly to the volumes and copy them to the tape
drives. Which backup infrastructure type would describe this process?

A. D2D (disc-to-disk)
B. 3PC (3rd party copy)
C. SSO (shared storage option)
D. D2R2T (disk to route to tape)

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 190
Which Security method is used to insure that a particular host only has access to a particular LUN?

A. port binding
B. hard zoning
C. soft zoning
D. LUN masking

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 191
What is one advantage of hardware RAID controllers?

A. Volume management is performed by the host
B. Volume management is performed by the switch
C. Parity calculation by the server and cache memory on the RAID controller increases read and write

performance.
D. Dedicated cache memory increases server write performance.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 192
Which connectivity types are associated with block level access?

A. DAS and SAN
B. NAS and SAN



C. LAN and SAN
D. NAS and DAS

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 193
Which host adapter configuration parameters is set to create redundant logical "paths" between the server and
the storage device?

A. LUN-pathing
B. Zone-pathing
C. Multiplathing
D. Cluster failover paths

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 194
Which subset of target devices allows for scalability beyond the 15 device limit in parallel SCSI?

A. target ports
B. I-T-L Nexus
C. logical units
D. command Descriptor blocks

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 195
A unix server has recently been unable to mount its file systems after the HBA driver has been replaced and
driver has been upgraded. What is the cause of the problem?

A. The switch zoning was based on port assignments
B. the Switch using worldwide naming has not been updated
C. the disk array firmware was not updated
D. The file system table was not updated to reflect the changes in device IDs.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:



Explanation:

QUESTION 196
You must implement a backup infrastructure for a remote office. This office has enough data to fill a single tape
each night. You can remotely schedule and control your backup server backups throughout the night. The staff
at this site is not technical and will not touch the equipment. You only need to store the last five days worth of
data these tapes. What solution purchase and administrative costs?

A. Deploy a tape autoloader with enough tape slots to support a new tape for each night
B. Deploy a set of five individual tape drives to the backup server each with a tape preloaded then rotate the

tape drive you use each night.
C. Deploy a tape library with multiple tape drives to ensure quick backup and enough tape slots to support a

new tape each night.
D. Deploy a single direct attached tape drive to the backup server and instruct onsite personnel how to swap

tapes to ensure a new blank tape is available each night.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 197
Which statement describes a RAID array?

A. Collection of disks in a single enclosure
B. Collection of disks with a controller that provides mirroring functionality
C. a pair of controllers that provides cache, striping, and virtualization services
D. collection of Fiber Channel disks in a single enclosure

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 198
Which HBA configuration parameter represents the global value of outstanding commands?

A. task-depth
B. queue-depth
C. target-queue-throuttle
D. ipfc-lun-throttle

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 199
What is the maximum distance of a 50- micrometer multimode fibre with a 850nm shortwave laser at 2 Gbps?



A. 500 meters
B. 300 meters
C. 150 meters
D. 70 meters

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 200
Which Fibre Channel protocol layer handles 8/10 bit encoding?

A. FC-0
B. FC-1
C. FC-2
D. FC-3

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 201
Which activity is performed by a storage device manager?

A. logical unit number (LUN) masking
B. Volume group configuration
C. File system configuration
D. name server management

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 202
What does a NAS head do?

A. It prevents volume virtualization
B. it connects other NAS devices to the LAN
C. It connects to a LAN attached tape device
D. It connects to block storage devices

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:



Explanation:

QUESTION 203
What is the maximum distance of 9 micrometer singlemode fiber a 1300nm longware laser at 4 Gbps?

A. > 50k meters
B. 10k meters
C. 5 k meters
D. 2k meters

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 204
What is the function of zoning?

A. Allows certain N ports to be visible to each other
B. Allows certain logical units to be visible to a HBA
C. Defines Which path data will take through the network
D. Allows certain logical units mounted to the host

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 205
How many zone sets can be active in a fabric at a single time?

A. one
B. two
C. three
D. unlimited

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 206
What could be the possible problem if the expected disk drives do not appear to the Fible Channel host
adapter?

A. adapter BIOS was not enabled
B. device driver revision is incorrect
C. drive spin up was not enabled
D. LUN was not masked by array software



Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 207
Which statement describes archiving?

A. Archiving is implemented for UNIX-based mail systems.
B. Archiving provides copies of current data to be used in the event of a disaster
C. Archiving selectively stores frequently used files and data on high performance media
D. Archiving stores infrequently used files and data on lower performance media

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 208
Which classification of storage virtualization is implemented in the storage array?

A. file/record virtualization
B. file system virtualization
C. disk virtualization
D. sector virtualization

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 209
In Fibre Channel, what does the port type FL mean?

A. Fabric Link
B. Fabric Lane
C. Fabric Long
D. Fabric Loop

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 210
Which can be included in a zone?



A. WWPN
B. E ports
C. Name Server
D. Logical Units

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 211
What is the definition of asinchronous replication?

A. Does not require acknowledged copy of data on primary and secondary storage before the write is
acknowledged to the host.

B. requires acknowledged write of data on primary storage only and data is forwarded to secondary site as
network capabilities permit

C. Requires acknowledged write of data on primary and secondary storage before the write is acknowledged to
the host.

D. Does not require acknowledged write of data on primary storage before data is forwarded to secondary site
as network capabilities permit

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 212
After installing a new switch in the fabric, what will have to be performed by the system administrator?

A. decomission the Name Server
B. rename the Zone Server
C. update and install device drivers in all HBA attached to the switch
D. create and activate required zone set on the switch

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 213
Which storage networking environment uses file access through a standard Ethernet network?

A. SAN
B. NAS
C. CAS
D. DAS

Correct Answer: B



Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 214
A Complete backup was done on Sunday. Monday's process backed up all changes since Sunday's backup.

Tuesday's process backed up all changes since Sunday's backup including changed on Monday.
What type of backup is this?

A. Full
B. Differential
C. Incremental
D. Clone

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 215
Which statement best describes an advantage of virtual tape libraries (VTL) in comparison to disk to disk (D2D)
backup solutions?

A. Disk array does not respond to backup software command just as if it were a tape drive or tape library.
B. Virtual type is automatically sent to off-site vault after backup finishes
C. Existing backup applications and processes can be used with VTL
D. Disk array works as a "temporary cache" for the backup software

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 216
What the steps to restore a complete backup that is using incremental method and has run three times
already?

A. latest full must be restored
B. latest incremental and all subsequent must be restored
C. latest full and subsequent incremental backups must be restored
D. latest full and latest incremental backup must be restored

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:



QUESTION 217
What is the main difference between PCI-X and PCI-E?

A. PCI-X is serial and PCI-E is parallel
B. PCI-E is Serial and PCI-X is parallel
C. PCI-X is 32-bit and PCI-E is 64-bit
D. PCI-E is 32-bit and PCI-X is 64-bit

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 218
Which statement describes the "cylinder" in the disk drive?

A. where the data is stored or retrieved
B. Used to read or write data on to the disk media
C. Used to seek to the area where the requested data is located'
D. A group of concentric slices through the physical disks.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 219
Which method protects data to maintaining separate copies of the data on two or more disks?

A. backup to disk
B. mirroring
C. parity RAID
D. NDMP

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 220
Given that devices used in the backup are accessed using fully independent paths through the fabric and ports
at the array. Which backup strategy has the least impact on perform the most improved availability to a
production application running in an active/standby cluster?

A. backup at the standby host from a split-mirror point-in-time copy.
B. backup ata the primary host from a snapshot of a clone point-in-time copy
C. backup a the standby host from a delta-snapshot of the production disks
D. backup at the primary host from a multi-point snapshot of the production disks



Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 221
A customer complains that they experience server performance issues with their OLTP database using an
iSCSI storage device. What is the cause of the problem?

A. the database files are mounted and running on a file access protocol via iSCSI
B. the network connection is on a dedicated network
C. they are using a software initiator
D. they are using a TCP offload engine rather than an HBA

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 222
What is the maximum distance of a 50-micrometer multimode fiber a 850nm shortwave laser at 4 Gbps?

A. 500 meters
B. 300 meters
C. 150 meters
D. 70 meters

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 223
In Fibre Channel, what does the port type NL mean?

A. Node Loop
B. Node Link
C. Node Long
D. Node LISM

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 224
What does the acronym SATA mean?



A. Serial Advanced Technology Attachment
B. SCSI attached Tunneled architecture
C. Serial attached Tunneled architecture
D. Serial Attached Technology Architecture

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 225
Which RAID level is ideal for video production and live video streaming, image editing, prepress applications,
and any application requiring high throughput?

A. RAID 1
B. RAID 3
C. RAID 5
D. RAID 6

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 226
Which approach is commonly used for disaster recovery applications?

A. snapshots
B. RAID 5
C. replication
D. mirroring

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 227
Which RAID levels combine mirroring and striping?

A. RAID 0/1
B. RAID 3
C. RAID 4
D. RAID 5

Correct Answer: A
Section: (none)
Explanation



Explanation/Reference:
Explanation:

QUESTION 228
Which component in an IP storage application requires configuration management?

A. HBA
B. VLAN
C. ISL
D. VSAN

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 229
Which bus requires proper termination for stable operation?

A. SAS
B. Fibre Channel
C. SATA
D. SCSI

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 230
Which statement describes the relationship between SAS and SATA devices regarding storage capacity?

A. SATA devices have less storage capacity than SAS devices
B. SAS devices have less storage capacity than SATA devices
C. STA and SAS devices have the same storage capacity
D. SAS devices have less performance than SATA drives

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 231
What do typical Fibre Channel host adapter settings include?

A. LUN mask, zoning, and world wide name
B. host adapter BIOS, spin up delay, and enable selectable boot
C. host adapter BIOS, World wide node name and world wide port name
D. spin up delay, host adapter ID and Fibre Channel address



Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 232
What is the port type of all ports in a Fibre Channel Arbitrated loop?

A. F port
B. FL port
C. N port
D. NL port

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 233
Which tier of storage and associated cost would store a company's mission critical online data?

A. tier one, lower cost per gigabyte
B. tier one, higher cost per gigabyte
C. tier two, higher cost per gigabyte
D. tier two, lower cost per gigabyte

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 234
A company has implemented a high availability tape backup process that uses snapshots. The snapshots are
backed up to tape. When checking the backup, the data is found to be option would fix this problem in future
backups?

A. Quiesce the application before backing up the data.
B. Unmount the file system before backing up the data
C. Quiesce the application before creating the snapshot
D. Store tapes offsite instead of within library

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 235



What dows STP stand for in the SAS architecture?

A. Serial Tunneled Protocol
B. SAS Tunneled Protocol
C. SATA Tunneled Protocol
D. SCSI Tunneled Protocol

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 236
What does the acronym PCI mean?

A. PC interface
B. Peripheral component interconnect
C. peripheral common interconnect
D. PC interconnect

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 237
You are designing a storage solution for an application where performance is not critical, but availability is
essential. You have decided to use high capacity SATA disk. Which RAID offer the greatest protection against
disk failure?

A. RAID 4
B. RAID 5
C. RAID 6
D. RAID 0

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 238
Where is LUN masking is performed?

A. Fibre Channel Switch
B. Disk Controller
C. Network Interface Card
D. Fibre Channel Director

Correct Answer: B



Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 239
What describes RAID 3?

A. Independent access with dedicated parity
B. parallel access with parity
C. independent access with interleaved parity
D. striping

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 240
What describes RAID 0?

A. mirroring
B. parallel access with parity
C. striping
D. independent access with interleaved parity

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 241
Which protocol is used to allow as NAS device to backup to a LAN attached backup device?

A. iSCSI
B. NFS
C. CIFS
D. NDMP

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 242
What is the function of the "head" on the disk drive?

A. It is used to read or write data onto the disk media



B. It is used to seek to the area where the requested data is located
C. It is where the data is stored or retrieved
D. It is a standard unit of measurement on the disk media

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 243
You are configuring a host to attach to a SAN-based storage device for the first time. The Storage is not visible.

What is the cause of the problem?

A. The storage device does not have a license for SAN attached devices
B. The reconfiguration command has not yet been executed
C. One of the two Fibre Channel cables is disconnected from the host
D. The HBA driver has not been configured or installed correctly

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 244
What is the maximum distance of a 9-micrometer singlemode fiber with a 1300nm longwave laser at 2 Gbps?

A. >50k meters
B. 10k meters
C. 5k meters
D. 2k meters

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 245
Which statement correctly identifies the relationship among these tape storage components:
library, an autoloader and a drive?

A. A drive is a component of an autoloader, while an autoloader is a component of a library
B. A tape drive is always directly connected to a server while autoloaders and libraries are SAN attached
C. A library can support multiple drives; an autoloader can support multiple tapes; a tape drive is a stand-alone

unit
D. A tape drive is always directly connected; a library is always SAN connected; an autoloader can be either

directly or SAN connected

Correct Answer: C



Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 246
What are the steps to restore a complete backup that is using differential method?

A. latest full and lasted differential backup must be restored
B. latest full and all subsequent differential backups must be restored
C. latest full must be restored
D. latest incremental must be restored

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 247
Which concept provides block-based backup and recovery?

A. disk-free backup
B. DAS enabled backup
C. SAN-free backup
D. server-free backup

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 248
Which two have World wide Names? (Choose two)

A. Switches
B. Disk arrays
C. Zone sets
D. Servers
E. HBAs

Correct Answer: AE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 249
What are two protocol options for transporting Fibre Channel over an IP network? (choose two)



A. FCIP
B. FCAL
C. SES
D. iSNS
E. iFCP

Correct Answer: AE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 250
Which three types of disk drive uses the SCSI command Language? (Choose Three)

A. SCSI
B. SATA
C. SAS
D. ATA
E. Fibre Channel

Correct Answer: ACE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 251
What are two advantage of NAS (Choose two)

A. is not limited to the throughput of the LAN
B. is appropriate for block level access
C. uses existing network infrastructure
D. more scalable and flexible than DAS
E. is not impacted by traffic on the LAN

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 252
Which two disk interfaces have high-availability connections (dual-ports) on the disk? (Choose two)

A. SATA
B. SAS
C. SCSI
D. ATA
E. Fibre Channel



Correct Answer: BE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 253
What two types of disk drives would NOT be used to store your company's database application and source
files when reliability is the most important factor? (Choose two)

A. SCSI
B. SATA
C. SAS
D. ATA
E. Fibre Channel

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 254
In an FC SAN environment, what are two ways to protect data on an array connected by a switch to multiple
hosts? (Choose two)

A. LUN masking
B. zoning
C. drive encryption
D. SSL and TLS
E. partition keys

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 255
Which two link speeds are supported by SATA devices? (Choose two)

A. 1.0625 Gbps
B. 1.5Gbps
C. 2.125 Gbps
D. 3.0 Gbps
E. 4.25 Gbps

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:



Explanation:

QUESTION 256
Which three types of disk would be used to run your company OLTP application? (Choose three)

A. SCSI
B. SATA
C. SAS
D. ATA
E. Fibre Channel

Correct Answer: ACE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 257
Serial-Attached SCSI (SAS) supports which two link speeds? (Choose two)

A. 1.0625 Gbps
B. 1.5 Gbps
C. 2.125 Gbps
D. 3.0 Gbps
E. 4.25 Gbps

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 258
Which disk drive interfaces are considered to be parallel interfaces? (Choose two)

A. SCSI
B. SATA
C. SAS
D. ATA
E. Fibre Channel

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 259
Members of a zone may be addressed by which two attributes? (Choose two)

A. Physical location on the switch
B. worldwide port name



C. serial number
D. MAC address
E. SCSI ID

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 260
Which two performance criteria are used to determine the selection of a device for a tiered storage level?
(Choose two)

A. performance (IOPs)
B. age of data
C. user profile
D. availability/reliability
E. power consumption ( watts/GB)

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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